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ECONOMICS
( Major )
Paper : 3.1

( Elementary Mathematics for Economics )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions as directed :

1x10=10
et SpIR et fran erpRs ey o -
(a) Write True or False : Yotla=1
RENCACIRERC R

(i) Every square matrix has an inverse.

AR <ol ey Relie (s
I |

() Null (or zero) matrix need not be a
square matrix.

e (@ ) s IR does
2’38 AIEF |
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(2)

(b) Write the correct answer :
W% Oed fo
X9 > X is &
Xo > X n_Sl"BT
(i) function
Fafe
(i) -relation
o
(i) Both
LGRS
(iv) None of the above
@9 JbIS T

(c) Fill in the blanks :
A IR R 3
(i) The graph of a quadratic function is
a

oo T G4 WA |

(i) The set of natural numbers less
than 1 is an example of

1903 ¢ gRfes MY 2o
_ 39

(d) Write the correct answer :
W7 Teq fo
y=b* where (°9) b>1is
(i exponential function

AHRR Fel

SRS ( Continued )

(3)

(i) logarithmic function
ORI Fae

(iii) linear function

@RS Fefe

(e) Find the range of the function y=4x+5

where -5< x <6.

Yy=4x+5 TFEOR HPE SRew e

-5<x<6.

If
A= and B = -6 7

what is A + B?

T

AT IS
_[6 7} k0?7

A+B3I I 2372

(@) 1f y=8Vx5, find -j_i’.-

8A/42

it y = 8VxS w,%‘awﬁq‘qw.
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(F4)

) I
d gl
e

then what is J'l dx?
X

3 -—‘:—ﬁ‘]r—(logx}=l 2, (SERE Il dxd J4
dx b's X
291
(i) Evaluate :
T = <541 -

i Vx -2
im
x4 x—4

(i) Write the subsets of A={1, 2 4}.
A={1, 2, 4} 3 TPRICEM o

2. Answer the following questions : 2x5=10
o7 firdl eRpiyRe Ted fopsr

(a) Solve :
S 41 :

x2 -11x+18 =0

(b) Write a linear market model which is in
equilibrium.

RPN SRETS 491 GRS & S fray |

8A/42 ( Continued )

(c)

(d)

(e)

(@)

8A/42

(S)

If
32 2 =2
A= and B =
b gfmenl ]
prove that AB = BA.

‘lf‘?A=[3 2}'@@3{2 _z]ﬁmqwar
1 %) )

AB = BA.

Write the difference between diagonal
matrix and identity (or unit) matrix.

3 (o5 JF T qoeTd 5o & 21277
IR, T4 |

Find %’ P S Ga fe—= 20 whererm
is a constant.
It u=3x"2 + mfx -20 =, ‘f—‘x” 3 I Ay

391 3’ m 91 &9 797 27 |

3. Answer any four of the following questions :
Sx4=20

wete il R e oif ot 21 Teq foay

Solve (by using Cramer’s rule) :
ST 91 (@[3 R aamns 3R)

07 Y, ~0-4 Y, =300
~0-3 ¥; +0-6 Y, =400
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(6) (7)

®) 1 (d) Find the inverse of the following matrix :
SR oI v ' woq (a7 (e T4 fefg 4
A=(4 1 3|andB=(4 0 1 S,
i e A=|2 1 4
L s
2 |
find A“ -3B. : (e) Evaluate :
3 " I ey <41
. 4
320 21D | = dx
A=|4 1 3|9®B=|4 0 1 - L
2L 3 5) %) 0 Ify=x2+3x+1 Edy
x2-x+1’ dx

A? -3B3 I g 41 | |

2
afy= 2 3L W g oty 1

oo =l
€ If :
_ 4. Answer the following questions :
124°0,..4 24l i)
= d B= O PR Bed ford
A[24-13]an [1 ~123] |
| (@) () 1if g=_§3’ﬁ:§_, il O
find a matrix X of order 2 x4 such that ’_ x> +3y dx dy
A-X=3B. ' s
| 2= 3X"Y g 92 o 92 3 o iy
I | x° +3y dx dy
0 4 2wl 411 6
A=[; i 1 3]WB=[1 : 3] | dy -
¥ g (i) 1 y=2u+4 and u=4x°, find 2

A-X =3B @EIF 9l 2 x4 T8 X Q&FFF

e dY
=2u+4 9F u=4x°> 3@ =2 3 qM
foef 3931 | 2 ek

ey a1 1 4
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( 8) | (295)

(i) State and prove the quotient rule of _ () Write any, two  properties  of A
differentiation. 2+6=8 | determinant. 2+0=4
SIFE SEFe BN ANecol a1 = ' s R e wo1 caf¥ies Teas 4 |
241 4T | ? e :

(@ If A= 3 _g|30d S0 =2x" -3x+5

(61) 16 S, el 22 il
dx find f(A). 6
ST dz |
=y £2q | il 2
z=\x ?il?fdx I faefy 1 i AZ[S 4}Wf(x)=2x2—3x+53;’t?f
(b) (i) Define homogeneous function. 2 ; F(A) 3 T frefg =1 |
STHCNAR Foeq 35e T4 | !

() Examine the continuity of the

] ’ i i t- t
following function at the point x =1 : 3 (o) [Mirte jagmote ongSiaticiinputAaton

5 Model. State its assumptions. 5+5=10
f(x)=x“-2x+3 when x<1 forq Rfae!-Seo SRR @RS @1 GBI B |
= phcates 2 SRR S 4 |
=2x% -3x+5 when x>1 | i
| KRG
x =1 7o So[ FE0R Sifftzzmel «( | 4
<9 : : Solve the following National Income
0 =x2-2x+3 @RT x<1 ! Model using matrix inversion : 10
=1l l,z]I q7 = ;
Rlleg] | C=a+B(Y-T) [0>00<B<1]
=2x% -3x+5 @AM x> 1 - T=8Y [0<8<1]
(i) Solve (by matrix inversion method) : 5 where Y, C, T, I, and G, denote
SHIME 41 (RS (eies omsfeq T[T aggregate income, consumption, income
13x + 6y = 58 ::aix, Investment _ and  government
penditure respectively.
Sx-11y=9

| 8A/42 Turn O
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(10)

were ol GIol S SifEehl [AS (qeesg

o R R TE 4

C=a+B{¥-T) [a>00<B<1]
T=038Y [0<8<1]
TSY, C T, I §IF Gy @& 5 9F, ooy,
o 39, s S Rl 7 @R |
(d) Find : 5+5=10
5 g 741 -

8A/42

(i) [x°logx

dx

2
(i) I(?[x?+3x—§—x} it

Or / 93]

() Give the geometrical interpretation

of the definite integral Jb flx)dx.
a

5

[ofeadx e s wffes

SHI9KCEIET |

( Continued )

{
1

|
4.
|
i
[

(11 )

(ii) Define the following : 2+2+1=5
TS [ATCARA SRS o7t -

8A—6500/42

L.

Polynomial function
TRef Fem
Equivalent set
e RS

Rational number

AT 722
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